Torneo: TEST. , -
ID==1 PLAYER 1 Elo= 15000F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1N 13 PLAYER13 13800F +1200 0,92 1 1
2B 12 PLAYER12 13900F +1100 0,92 1 2
3 N 6 PLAYERG 14500F  +500 0,92 1 3
4 B 4 PLAYERA4 14700F  +300 0,85 1 4
5N 2 PLAYER2 14900F  +100 0,64 1 5
6 B 3 PLAYERS3 14800F +200 0,76 1 6
7 N 10 PLAYERI10 14100F  +900 0,92 1 7
8 Of 7

ARO=14385 variaz.Elo=+43/+21/+11 Elo stimato=15043/15021/15011

Torneo: TEST. , -
ID==2 PLAYER 2 Elo= 14900F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1B 14 PLAYER14 13700F +1200 0,92 1 1
2 N 11 PLAYER11 14000F  +900 0,92 1 2
3B 5 PLAYERS 14600F  +300 0,85 1 3
4 N 3 PLAYERS3 14800F +100 0,64 1 4
5B 1 PLAYER1 15000F  -100 0,36 0 4
6 N 7 PLAYER7 14400F  +500 0,92 1 5
7B 9 PLAYERY9 14200F +700 0,92 1 6
8 Of 6

ARO=14385 variaz.Elo=+19/+9/+5 Elo stimato=14919/14909/14905

Torneo: TEST. , -
ID==3 PLAYER 3 Elo= 14800F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1N 15 PLAYER15 13600F +1200 0,92 1 1
2B 10 PLAYER10 14100F +700 0,92 1 2
3N 4 PLAYERA4 14700F  +100 0,64 1 3
4 B 2 PLAYER2 14900F  -100 0,36 0 3
5N 8 PLAYERS 14300F  +500 0,92 1 4
6 N 1 PLAYER1 15000F  -200 0,24 0 4
7B 5 PLAYERS 14600F  +200 0,76 1 5
8 of 5

ARO=14457 variaz.Elo=+10/+5/+2 Elo stimato=14810/14805/14802



Torneo: TEST. , -
ID==4 PLAYER 4 Elo= 14700F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1B 16 PLAYER16 13500F +1200 0,92 1 1
2 N 9 PLAYERY9 14200F  +500 0,92 1 2
3B 3 PLAYER3 14800F  -100 0,36 0 2
4 N 1 PLAYER1 15000F  -300 0,15 0 2
5B 14 PLAYER14 13700F +1000 0,92 1 3
6 N 5 PLAYERS 14600F  +100 0,64 1 4
7B 7 PLAYER7Y 14400F  +300 0,85 1 5
8 Of 5

ARO=14314 variaz.Elo=+10/+5/+2 Elo stimato=14710/14705/14702

Torneo: TEST. , -
ID==5 PLAYER 5 Elo= 14600F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1N 17 PLAYER17 13400F +1200 0,92 1 1
2B 8 PLAYERS 14300F  +300 0,85 1 2
3 N 2 PLAYER2 14900F  -300 0,15 0 2
4 B 12 PLAYER12 13900F +700 0,92 1 3
5N 6 PLAYERG 14500F  +100 0,64 1 4
6 B 4 PLAYERA4 14700F  -100 0,36 0 4
7 N 3 PLAYER3 14800F  -200 0,24 0 4
8 of 4

ARO=14357 variaz.Elo=-3/-2/-1 Elo stimato=14597/14598/14599

Torneo: TEST. , -
ID==6 PLAYER 6 Elo= 14500F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1B 18 PLAYER18 13300F +1200 0,92 1 1
2 N 7 PLAYER7 14400F  +100 0,64 1 2
3B 1 PLAYER1 15000F  -500 0,08 0 2
4 N 9 PLAYERY9 14200F  +300 0,85 1 3
5B 5 PLAYERS 14600F  -100 0,36 0 3
6 N 11 PLAYER11 14000F  +500 0,92 1 4
7B 8 PLAYERS 14300F  +200 0,76 1 5
8 of 5

ARO=14257 variaz.Elo=+19/+9/+5 Elo stimato=14519/14509/14505

Torneo: TEST. , -



ID==7 PLAYER 7 Elo= 14400F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1N 19 PLAYER19 13200F +1200 0,92 1 1
2B 6 PLAYERG 14500F  -100 0,36 0 1
3 N 17 PLAYER17 13400F +1000 0,92 1 2
4 B 8 PLAYERS 14300F  +100 0,64 1 3
5N 10 PLAYERI10 14100F  +300 0,85 1 4
6 B 2 PLAYERZ2 14900F  -500 0,08 0 4
7 N 4 PLAYERA4 14700F  -300 0,15 0 4
8 Of 4

ARO=14157 variaz.Elo=+3/+2/+1 Elo stimato=14403/14402/14401

Torneo: TEST. , -
ID==8 PLAYER 8 Elo= 14300F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1B 20 PLAYER20 13100F +1200 0,92 1 1
2 N 5 PLAYERS 14600F  -300 0,15 0 1
3B 18 PLAYERI18 13300F +1000 0,92 1 2
4 N 7 PLAYER7Y 14400F  -100 0,36 0 2
5B 3 PLAYER3 14800F  -500 0,08 0 2
6 B 19 PLAYER19 13200F +1100 0,92 1 3
7 N 6 PLAYERG 14500F  -200 0,24 0 3
8 of 3

ARO=13985 variaz.Elo=-24/-12/-6 Elo stimato=14276/14288/14294

Torneo: TEST. , -
ID==9 PLAYER 9 Elo= 14200F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1N 21 PLAYERZ21 13000F +1200 0,92 1 1
2B 4 PLAYERA4 14700F  -500 0,08 0 1
3N 15 PLAYERI15 13600F  +600 0,92 1 2
4 B 6 PLAYERG 14500F  -300 0,15 0 2
5N 13 PLAYER13 13800F  +400 0,92 1 3
6 B 12 PLAYER12 13900F +300 0,85 1 4
7 N 2 PLAYER2 14900F  -700 0,08 0 4
8 of 4

ARO=14057 variaz.Elo=+3/+2/+1 Elo stimato=14203/14202/14201

Torneo: TEST. , -



ID==10 PLAYER 10 Elo= 14100F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1B 22 PLAYER22 12900F +1200 0,92 1 1
2 N 3 PLAYERS3 14800F  -700 0,08 0 1
3B 16 PLAYER 16 13500F  +600 0,92 1 2
4 N 11 PLAYER11 14000F  +100 0,64 1 3
5B 7 PLAYER7Y 14400F  -300 0,15 0 3
6 N 14 PLAYER14 13700F  +400 0,92 1 4
7B 1 PLAYER1 15000F  -900 0,08 0 4
8 of 4

ARO=14042 variaz.Elo=+12/+6/+3 Elo stimato=14112/14106/14103

Torneo: TEST. , -
ID==11 PLAYER 11 Elo= 14000F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1N 23 PLAYER23 12800F +1200 0,92 1 1
2B 2 PLAYER2 14900F  -900 0,08 0 1
3N 13 PLAYER13 13800F +200 0,76 1 2
4 B 10 PLAYERI10 14100F  -100 0,36 0 2
5N 17 PLAYER17 13400F +600 0,92 1 3
6 B 6 PLAYERG 14500F  -500 0,08 0 3
7 N 12 PLAYER12 13900F +100 0,64 1 4
8 of 4

ARO=13914 variaz.Elo=+10/+5/+2 Elo stimato=14010/14005/14002

Torneo: TEST. , -
ID==12 PLAYER 12 Elo= 13900F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1B 24 PLAYER24 12700F +1200 0,92 1 1
2 N 1 PLAYER1 15000F -1100 0,08 0 1
3B 14 PLAYER14 13700F  +200 0,76 1 2
4 N 5 PLAYERS 14600F  -700 0,08 0 2
5B 18 PLAYER18 13300F +600 0,92 1 3
6 N 9 PLAYERY9 14200F  -300 0,15 0 3
7B 11 PLAYER11 14000F  -100 0,36 0 3
8 of 3

ARO=13928 variaz.Elo=-11/-5/-3 Elo stimato=13889/13895/13897

Torneo: TEST. , -
ID==13 PLAYER 13 Elo= 13800F K=40/20/10



R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1B 1 PLAYER1 15000F -1200 0,08 0 0
2 N 24 PLAYER?24 12700F +1100 0,92 1 1
3B 11 PLAYER11 14000F  -200 0,24 0 1
4 N 20 PLAYER20 13100F +700 0,92 1 2
5B 9 PLAYERY9 14200F  -400 0,08 0 2
6 N 16 PLAYER 16 13500F  +300 0,85 1 3
7B 15 PLAYER15 13600F  +200 0,76 1 4
8 Of 4

ARO=13728 variaz.Elo=+6/+3/+2 Elo stimato=13806/13803/13802

Torneo: TEST. , -
ID==14 PLAYER 14 Elo= 13700F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1N 2 PLAYER2 14900F -1200 0,08 0 0
2B 23 PLAYER23 12800F +900 0,92 1 1
3 N 12 PLAYER12 13900F  -200 0,24 0 1
4 B 15 PLAYER15 13600F +100 0,64 1 2
5N 4 PLAYERA4 14700F -1000 0,08 0 2
6 B 10 PLAYERI10 14100F  -400 0,08 0 2
7 N 17 PLAYER17 13400F +300 0,85 1 3
8 of 3

ARO=13914 variaz.Elo=+4/+2/+1 Elo stimato=13704/13702/13701

Torneo: TEST. , -
ID==15 PLAYER 15 Elo= 13600F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1B 3 PLAYERS3 14800F -1200 0,08 0 0
2 N 22 PLAYER22 12900F +700 0,92 1 1
3B 9 PLAYERY9 14200F  -600 0,08 0 1
4 N 14 PLAYER14 13700F  -100 0,36 0 1
5B 16 PLAYER 16 13500F  +100 0,64 1 2
6 N 20 PLAYER20 13100F  +500 0,92 1 3
7 N 13 PLAYER13 13800F  -200 0,24 0 3
8 of 3

ARO=13714 variaz.Elo=-10/-5/-2 Elo stimato=13590/13595/13598

Torneo: TEST. , -
ID==16 PLAYER 16 Elo= 13500F K=40/20/10




R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1N 4 PLAYERA4 14700F -1200 0,08 0 0
2B 21 PLAYERZ21 13000F  +500 0,92 1 1
3 N 10 PLAYER10 14100F  -600 0,08 0 1
4 B 19 PLAYER19 13200F  +300 0,85 1 2
5N 15 PLAYER15 13600F  -100 0,36 0 2
6 B 13 PLAYER13 13800F  -300 0,15 0 2
7 N 22 PLAYER22 12900F  +600 0,92 1 3
8 Of 3

ARO=13614 variaz.Elo=-14/-7/-4 Elo stimato=13486/13493/13496

Torneo: TEST. , -
ID==17 PLAYER 17 Elo= 13400F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1B 5 PLAYERS 14600F -1200 0,08 0 0
2 N 20 PLAYER20 13100F  +300 0,85 1 1
3B 7 PLAYER7 14400F -1000 0,08 0 1
4 N 22 PLAYER22 12900F  +500 0,92 1 2
5B 11 PLAYER11 14000F  -600 0,08 0 2
6 N 18 PLAYERI18 13300F  +100 0,64 1 3
7B 14 PLAYER14 13700F  -300 0,15 0 3
8 of 3

ARO=13714 variaz.Elo=+8/+4/+2 Elo stimato=13408/13404/13402

Torneo: TEST. , -
ID==18 PLAYER 18 Elo= 13300F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1N 6 PLAYERG 14500F -1200 0,08 0 0
2B 19 PLAYER19 13200F +100 0,64 1 1
3N 8 PLAYERS 14300F -1000 0,08 0 1
4 B 21 PLAYERZ21 13000F  +300 0,85 1 2
5N 12 PLAYER12 13900F  -600 0,08 0 2
6 B 17 PLAYER17 13400F  -100 0,36 0 2
7B 24 PLAYER?24 12700F  +600 0,92 1 3
8 of 3

ARO=13571 variaz.Elo=0/0/0 Elo stimato=13300/13300/13300

Torneo: TEST. , -
ID==19 PLAYER 19 Elo= 13200F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti



1B 7 PLAYER7 14400F -1200 0,08 0 0
2 N 18 PLAYER18 13300F  -100 0,36 0 0
3B 24 PLAYER?24 12700F +500 0,92 1 1
4 N 16 PLAYER 16 13500F  -300 0,15 0 1
5B 23 PLAYER23 12800F +400 0,92 1 2
6 N 8 PLAYERS 14300F -1100 0,08 0 2
7B 20 PLAYER20 13100F +100 0,64 1 3
8 of 3

ARO=13442 variaz.Elo=-6/-3/-1 Elo stimato=13194/13197/13199

Torneo: TEST. , -
ID==20 PLAYER 20 Elo= 13100F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1N 8 PLAYERS 14300F -1200 0,08 0 0
2B 17 PLAYER17 13400F  -300 0,15 0 0
3 N 23 PLAYER23 12800F +300 0,85 1 1
4 B 13 PLAYER13 13800F  -700 0,08 0 1
5N 21 PLAYERZ21 13000F  +100 0,64 1 2
6 B 15 PLAYER15 13600F  -500 0,08 0 2
7 N 19 PLAYER19 13200F  -100 0,36 0 2
8 Of 2

ARO=13442 variaz.Elo=-10/-5/-2 Elo stimato=13090/13095/13098

Torneo: TEST. , -
ID==21 PLAYER 21 Elo= 13000F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1B 9 PLAYERY9 14200F -1200 0,08 0 0
2 N 16 PLAYER16 13500F  -500 0,08 0 0
3B 22 PLAYER22 12900F  +100 0,64 1 1
4 N 18 PLAYER18 13300F  -300 0,15 0 1
5B 20 PLAYER20 13100F  -100 0,36 0 1
6 N 24 PLAYER?24 12700F  +300 0,85 1 2
7B 23 PLAYER23 12800F +200 0,76 1 3
8 of 3

ARO=13214 variaz.Elo=+3/+2/+1 Elo stimato=13003/13002/13001

Torneo: TEST. , -
ID==22 PLAYER 22 Elo= 12900F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti




1N 10 PLAYER10 14100F -1200 0,08 0 0
2B 15 PLAYER15 13600F  -700 0,08 0 0
3 N 21 PLAYERZ21 13000F  -100 0,36 0 0
4 B 17 PLAYER17 13400F  -500 0,08 0 0
5B 24 PLAYER?24 12700F  +200 0,76 1 1
6 N 23 PLAYER23 12800F +100 0,64 1 2
7B 16 PLAYER16 13500F  -600 0,08 0 2
8 of 2

ARO=13300 variaz.Elo=-3/-2/-1 Elo stimato=12897/12898/12899

Torneo: TEST. , -
ID==23 PLAYER 23 Elo= 12800F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1B 11 PLAYER11 14000F -1200 0,08 0 0
2 N 14 PLAYER14 13700F  -900 0,08 0 0
3B 20 PLAYER20 13100F  -300 0,15 0 0
4 N 24 PLAYER?24 12700F  +100 0,64 1 1
5N 19 PLAYER19 13200F  -400 0,08 0 1
6 B 22 PLAYER22 12900F  -100 0,36 0 1
7 N 21 PLAYERZ21 13000F  -200 0,24 0 1
8 of 1

ARO=13228 variaz.Elo=-25/-13/-6 Elo stimato=12775/12787/12794

Torneo: TEST. , -
ID==24 PLAYER 24 Elo= 12700F K=40/20/10

R colore ID= Giocatore Titolo Elo differenza atteso risultato punti

1N 12 PLAYER12 13900F -1200 0,08 0 0
2B 13 PLAYER13 13800F -1100 0,08 0 0
3N 19 PLAYER19 13200F  -500 0,08 0 0
4 B 23 PLAYER23 12800F  -100 0,36 0 0
5N 22 PLAYER22 12900F  -200 0,24 0 0
6 B 21 PLAYERZ21 13000F  -300 0,15 0 0
7 N 18 PLAYER18 13300F  -600 0,08 0 0
8 of 0

ARO=13271 variaz.Elo=-43/-21/-11 Elo stimato=12657/12679/12689



